PACE EDWARDS

RETRACTABLE UTILITY

BED COVER

INSTALLATION INSTRUCTIONS

Required TOOIS.........uuueeiiieiie e 2

Before You Start ..o 2

Packaging Contents ............cooocciiiiiieeiie e, 2
V= NG— = > A AV Hardware Kit.........ccoooiiiiiieeeee e 3
1. Place the Canister..........cocceeiiiiiiiiiiiee e 4

2. Installing the Horizontal Rails ..............cvvvviiiiennnn. 4

3. Installing the drain tubes ..., 5

4. Install & Match Drill Horizontal rail clamps ............ 5

5. Shim the Horizontal Rail Clamps.........ccccccceeeeinnnes 5

6. Bolt Down Horizontal Rail Clamps .............cccceue. 6

7. Install Corner Blanket Guide ..........ccccceeeviiiereennne. 6

8. Install Vertical Rail Clamps..........ccccovveeeeieeeiiiiinns 7

9. Install the Top COVEr.....cccvviviiiiiiiiiiieeeee e, 8

10. Lubricate the Rail seals ...........ccccooiiiiiiiicn, 8

11. Pull Cover Closed - Complete Installation ............ 8

Helpful Maintenance Hints .........c...ccccovviiiiiiiennnnnnnn. 9

\_ J



https://www.carid.com/pace-edwards/

TOOLS REQUIRED FOR ASSEMBLY:

Electric Dirill 7/16 Socket Wrench

1/4” drill bit, Phillips screw Driver #1 & #2
1/2” drill bit Tape Measurer

9/32 Allen Wrench Rubber mallet

\_ J

PACKAGING CONTENTS:

STANDARD
HORIZONTAL
RAILS

TOP
COVER
\

DRAIN TUBES

@ARDWARE KIT PACK

RAIL CLAMP PACK

CANISTER
/

4
s

STANDARD
VERTICAL RAILS

\

)

2 UTILITY BED COVER INSTALLATION INSTRUCTIONS



HARDWARE KIT:

i

V4’20 x %7
BOLT x 2

PLASTIC
SHIMS (x 20)

]

#10 x % BLACK
SHEET METAL
SCREW (x 4)

#10-32 x % BLACK
TOP COVER
SCREW (x 2)

&

2" LOCK WASHER
X 2

SET SCREW

CLAMP (x 10)

w/ installed set
screws (x10)

2" FLAT WASHER
X2

7

4-20 x 1% CLAMP
BOLT (x 10)

4 FENDER
WASHER (x 10)

e

CORNER
CHANNEL
(x2)

¥

#6-32 x %

s STOP STRIP
CORNER

SCREW (x 2)

DRAIN TUBE FITTING (x2)

&

Ya-20
NYLOCK (x 10)

Foam Washer

UTILITY BED COVER INSTALLATION INSTRUCTIONS




Prior to placing canister in the bed you will want to protect the paint
with a couple of towels or pieces of packing foam since the fit is very
tight, there is a risk of scratching the sides of the bed. Blue painters
tape works well for protection also.

1. PLACE THE CANISTER

This will require two people. Set the canister on a stand at the front
end of the bed so that the sides of the canister are above the sides of
the truck bed about 3 inches. (A folding chair works well). (Fig. 1A)

Pull approximately 4-5 ribs of the cover out of the canister.

Fl

J

2. INSTALLING THE HORIZONTAL RAILS SAMEFOR BOTHSTANDARD

The tailgate end of the rail can damage your box during
installation; we recommend wrapping the ends of the rails
or protecting the sides and top of box to prevent accidental
damage.

MAKE SURE TO REMOVE THE WHITE LINER FROM THE FOAM
ON THE BACKSIDE OF THE RAILS IT IS FOR PACKAGING
PURPOSES ONLY. (Fig. 2A)

Starting with either rail you will need to hold the rail level and slide the
lower rail (male profile) into the rail grip (female profile) that is bolted
to each side of the canister (Fig. 2B). You must hold the ribbed blanket
out and level while sliding the rail over it and into the rail grip on the
canister. (Fig. 2C) Tilting the rail to get it inserted right then bringing it
level works well. (Fig. 2D)

When properly inserted in the rail grips on the canister push the rails
all the way forward.

* Rail
Grips Ribbed Once the rails are in place on both sides of the canister you can
Blanket remove the protection you placed on the bed and remove the stand
the canister was set on. Lowering the canister with rails attached onto
the truck box. The canister will fit tight and need to be centered in the
truck bed.

Secure the canister to the rails with the 4-20 x %6 CANISTER BOLT,
Ya washer, and V4 lock washer (Figure 2E)

Rail
FIG. 2B Flange

J

4 UTILITY BED COVER INSTALLATION INSTRUCTIONS



3. INSTALLING THE DRAIN TUBES

“

First ensure that the “0” ring is in place on the drain tube end being inserted into the canister. (This will prevent water
leakage)

With the cover opened, insert the drain tube fittings into the pre-drilled holes on the underside of the canister by
pushing them in place from
under the canister.

The drain tube should click into
place.

Route the end of the drain tubes
out any existing drain holes
present in the bed.

If no drain holes are provided
you will have to drill 2 - 34" holes
that you can push the drain hose
through. (Make sure to touch
up any holes drilled to prevent

corrosion). )

-

ONTOP LI

Make sure the canister is centered in the truck bed at this point and throughout this step.
(Flexing the rails inward prevents the clamps from scratching the paint).

Install the rail clamps by flexing the rails inward slightly, then slide one rail clamp all the way forward against the
canister on both rails about 4”-6” from the canister. (Figure 4A) Tighten the set screw (Figure 4B) Do the same for
the Middle clamp (place midway between the two other clamps) and the End clamp (Place about an inch from the
corner channel) on both side rails (left and right).

\Apply downward pressure to the rail and match drill the truck body with the hole in the the clamp. (Figure 4C) J

5. SHIM THE HORIZONTAL RAIL CLAMPS (IF NEEDED)

e FIG.5B
Measure between the rails to determine the need for shims. (Figure 5A)

The gap between the backside of the rail clamp and the side of the truck bed will need to be shimmed. Remove
the paper backing to expose the sticky side of the shim. (Figure 5B)

To shim, move the rail clamp and place as many of the plastic shims between the rail and the bed sidewall as
\needed to fill the gap. (Figure 5C) Place the same number of shims on each side rail to maintain even centering. )

UTILITY BED COVER INSTALLATION INSTRUCTIONS 5



6. BOLT DOWN HORIZONTAL RAIL CLAMPS

With the rails shimmed properly

Measure the width between the rails at the canister end and then at the tailgate end. This width must not be
wider at the tailgate than the canister end. The width is best if shimmed 1/16" to 1/8" maximum narrower at the
tailgate end.

With a partner on the outside of the truck to help, use the ¥2-20x 174 Clamp Bolt, Fender washer, and %4-20 nylock
washer to secure all the clamps to the truck body. (Figure 6A & 6B)

_/

7. INSTALLING CORNER BLANKET GUIDE

The Corner Channel must be shimmed, using the plastic shims provided, the same as the rails so that it is flush
with the inside of the rails.

It is essential that the horizontal and vertical rails are evenly spaced from side to side and square from
front to rear by measuring and making sure all measurements are the same.

Attach the corner channel to the horizontal rail with the 2 - 10 x % BLACK SHEET METAL SCREW. (Figure 7A)

Attache the corner blanket guide the the vertcal rail with the 2- 10 x % BLACK SHEET METAL SCREW. (Figure
7B)

6 UTILITY BED COVER INSTALLATION INSTRUCTIONS



8. INSTALL VERTICAL RAIL CLAMPS

Temporarily remove the end cap screw. (Figure 8A)

Slide the clamps on the vertical rail and secure into place with
the allen wrench and set screw. (Figures 8B & 8C)

Match Drill the Vertical Rail clamps to the truck body. (Figure
8D)

Add shims as needed then secure the vertical rail clamps with
your partner on one side you on the other. (Figure 8E)

Secure the Vertical rail stop strip to the corner blanket guide.
with the #6-32-% STOP STRIP CORNER SCREW (Figure
8F)

Attach the pull strap to one side rail with the previously
removed end cap screw. (Figure 8G)

Reinstall the other end cap screw in the other side.

UTILITY BED COVER INSTALLATION INSTRUCTIONS 7



9. INSTALL THE TOP COVER

Install the top cover on the canister making sure it is flush with the horizontal rail. Use the 2-Black
Top Cover Screws.

10. LUBRICATE THE RAILS

Use the included 303 protectant to lubricate the sweep seal and wear strip. This ensures the cover glides
smoothly the first time it is very important to lubricate the seals on the rails. You will need to periodically lubricate
these seals throughout the life of the cover. We recommend using the 303 Brand protectant.

J

11. COMPLETE INSTALLATION

Pull the cover closed and the installation is complete.

J

UTILITY BED COVER INSTALLATION INSTRUCTIONS

o]



HELPFUL MAINTENANCE HINTS

To assure quiet, smooth operation, apply a small amount of grease to the guide strips where the metal end of
the panels and the guide strips meet. This initial application should be sufficient for a year or more. Regrease the
guide strips if the cover begins squeaking during use.

Drain tubes may become clogged over time and should be removed and cleaned.
Periodically remove the top cover and clean out the canister.

To help keep the tonneau cover looking its best, we recommend washing it the same as caring for your truck
finish.

\ J
INSTALLING THE OPTIONAL TAILGATE LOCK

THIS IS ONLY USED WHEN YOUR COVER GOES TO THE TOP OF THE TAILGATE AND YOUR TAILGATE
IS NON-LOCKING. IT IS AN OPTION YOU MUST SPECIFY YOU WANT WHEN ORDERING.

Attach the (optional) tailgate lock angle piece to the cover. using the 10 x % BLACK SHEET METAL SCREW (x
2) (Figure 12A) (If your truck has a lockable tailgate this may not be needed.)

Transfer the location of the angle to the tailgate. (Figures 12B & 12C) We put masking tape down so as to not
mark directly on the tailgate.

Correctly position the tailgate lock block, match drill the holes into the tailgate and attach the tailgate block to
the tailgate. Using the #8 x 174 SCREW (x 4) (Figures 12D & 12E)

Rely only on high-grade tonneau covers offered on our virtual shelves.


https://www.carid.com/tonneau-covers.html



